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¢) The limit state corresponding to maximum loadsearr _,:mgﬁcapacny 1S known as
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doubly reinforced rectangular concrete beam has a Wldth of 300 mm and an effective
depth of 500 mm. The beam is reinforced with 2200 mm® of steel in tension and 628 mm”
“of steel in compression. The effective cover for compression steel 1s 50 mm. Assume that
both tension and compression steel yield. The grades of concrete and steel used are M20
and Fe 250, respectively. The stress block parameters for concrete shall be as per IS: 456-
2000. Determine the depth of neutral axis and moment of resistance of the section.  (3)




4. A T-beam floor system has 120 mm thick slab supported on beams. The width of beam is
300 mm and effective depth is 580 mm. The beam is reinforced with 8 bars of 20mm

diameter. Use M20 grade of concrete and Fe 415 steel. The bearms are spaced 3m centre
to centre. The effective span of beam is 3.6m. (4)
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